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Bell Work Tuesday 4/15/2014

If you have your quiz re-work, staple the original
quiz with your re-work and turn it in to me.

What are the solutions to the equation:
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Objective -

To graph a quadratic function from intercept
form.
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When graphing a quadratic we will graph 4 things:

>  X-intercepts
> y-intercept
> vertex

— The lowest point or the highest point on a parabola is
called the vertex.
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e For any y-intercept, the x-value is equal to: Zero :
e For any x-intercept, the y-value is equal to: Z€10 .

¢ To find the vertex, we will first find the x-value and then
substitute that in the equation to find the corresponding y-
value.
> We can find the vertex 2 ways

_p 2
mx= OX t+bx+C

% — halfway between the two x-intercepts.
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